3.9.1 Review (Fall 2018)-f18-2 October 23, 2018

Today's Learning Goal(s):
By the end of the class, | will be able to:

a) review all ideas for the unit summative.

(See Next Page)

You may wish to print out 4.1.1 in advance of next class.
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3.9.1 Review pate:_ Dc 1.2/ /5

1. Factor the following completely. Note: You are NOT solving for x.
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2. Solve. Factor and use the quadratic formula where needed.

20
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3. Find each product.

a) (4x+opiBx-9pi )] (—6x—3yi—6x? — xy+ 5371

Check Solns

o) Izt =3xp+ 2 =22 dxy45y° |

3a) 32x% +dxy—45y B 36x +24x%y - 270 —15y° o) —2xP 41055y 112707 = Tof +10y°
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4. Rearrange each formula.

a) Nlake x the subject of 548y +4x=33 b) Make b the subject of 4= kla+b)
Check Solns
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3.9.1: Beview Solutions

la) 5x5x" —6x* 470 &) 22 —5z022* +52) ) (Tx=5ix+2) & (z—120x+2)

gl (x—2lx—4) £ 3x-100x+3) g Tx+8ix-11 by Bx+3ix-1)

1 xF+20x-3) I ola+dila-2) K 2xfix=Tix+7)

1a) y=-1 b)x:_?g,% c)x:%,—l dy x=0,-3,5 e z=012 ) x=064

g xz_?g,—ﬂ Wy x=267 1) x=0,x=228 x=022 §) x=241 k) x=-3,34

3a) 32x° +dxy—45p7 b)) 36xT +24x%y - 27n 1507 o) —2x +10x7y 1120y =T +10yt
4a) x=-2y+7 ) b:%ﬂ—a c) v:$+u a ngz;_g;y €) x=.jdyz+6-1

Return to 1 Return to 2 Return to 3 Return to 4



	Page 1: Oct 20-11:33 PM
	Page 2: Oct 22-10:14 AM
	Page 3: Oct 22-10:15 AM
	Page 4: Oct 25-12:33 PM
	Page 5: Oct 25-12:41 PM
	Page 6: Oct 25-12:45 PM
	Page 7: Oct 25-12:45 PM
	Page 8: Oct 25-12:50 PM

